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10 [biBE EE 18T 476,412 10 |[WHRE ISR 154,994
ABoE NGRS
o 1AZEZ0 N 1 AHEZ0
Iigfz MXENE SEEEE (F) Ilgfz XA Z SEEEE (F)
ABzAN 1 [BR8 HE 418,285 1 |[ERE 1N B 101,960
2ET19 270,652 2 [umE MBI 390,147 2 [hER E3~==1n) 121,097
RA/ RN 4118 3 SRR R 372,334 3 [hige BERSORAT 125,025
ZENREL 0.12 4 |[WRE 218 370,985 4 [PiER ZREN 125,365
5 @& BN 370,578 5 [PiER FAASRA 130,196
6 |[SRE Bl N1k 370,571 6 [hi8R TEH 130,789
7 |BER FEKEA 369,517 7 |RReE + S 134,837
8 [SRE B EFE 362,307 8 [REZRH HE S 136,240
9 L8R KiE = S8] 361,226 9 [hiER PIEER 139,378
10 [FEARE KR 360,004 10 [PfES SEREH 140,908
g E3pS ]
o 1AZE1Z0 N 1 AHEZ0
IIEfz XS SEEEE (F) gz XA E SEEEE (F)
R 1 |SRE RORA 43,603 1 [hiER EEEN 9,214
£EEH 27,7530 2 L8R LEABE] 43,292 2[R PR 9,477
RA/ RN A4S 3 [KBrAF KIRHREFSX 41,026 3 [higR PRBN 9,595
ZENRE 0.21 4 [KIRFS KRR AEEX 40,855 4 [umE S 10,628
5 [KIRfT =2 40,651 5 |BHE IS 10,791
6 [KBRAT RHERX 40,638 6 [PiER Bl N=) 11,956
AN iigesl:ii] 40,289 7 |BHE TEHA 12,433
8 [bmé& =253:1]:1) 40,115 8 [hiBR K SH 12,506
9 [BEER Bl PPl sEZ NS 40,114 9 |BHE KRSE] 13,383
10 K88 IRE] 40,051 10 |ERE NS 13,449
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251 “REREHR - BB =
(3) TUNERERRRHEHESHEERNE

BMFRS 1 —24 THXETARHBIEZETSE

i EIEE MXENE | EHES
125 BlE 36 1.9%
115 WME 125 K& 176 9.3%
105 WME 115 XK@ 323 17.0%
095 Wk 105 XK 512 27.0%
085 WME 095 X 632 33.3%
085 Kig 217 11.4%
&5t 1896 100.0%
HIgEEH OB \THXEN OIS EI DS \ T X ET A
5t 5t
gz MXENE o= IE% Iz MXENS CEE)
gt 1 eEE WEE 1.469 1 |[=BE8 =TGN 0.553
2 [bmE Eee 1.391 2 |IEBR SRS 0.640
BRI 275 3 [rmE e 1.384 3 |IREBR REEN 0.648
ZENRE 0.12 4 [BRE FT¥RE 1.356 4 FNRE 2 0.657
5 [ =6 1.354 5 |LER NC7) 0.662
6 [SHNE KB 1.352 6 [EmE N ER 0.665
7 [BRE  IfEm 1.342 7 |WERE INERY 0.679
8 [RIBR RIB® 1.333 8 |[EFE NI 0.683
9 |SRE A 1.325 9 |IRIBE INESL) 0.693
10 |{FEBE8  1=%%mh 1.322 10 [hi8e b AR 0.698
Az AB%
Iigfz MXENE g EEE Ilgfz HXEINZ IS
N 1 [fpeg e 1.909 1 [BER &R IR AT 0.346
2 [rmE WEBE 1.877 2 |bEe NSRS 0.574
RA/ R/ 558 3 |SHE K& 1.828 3 |IEBE8 FEART 0.588
ZENRE 0.21 4 [mE fEse 1.754 4 (LIRS Righdt 0.590
5 [tEe &ErPH 1.697 5 [FiBE =43t 0.606
6 [BXNE Ik 1.694 6 |[EHS FEN 0.623
7 [BRE =Er 1.628 7 [BRE JIARAET 0.625
8 [ERE 18%m 1.627 8 [BFE ERE] 0.636
9 [ERSE =8/ 1.623 9 [BHRE VAVSL:ii] 0.641
10 B8 Erlm 1.623 10 [RREB SN 0.646
ABo4 NGRS
IEfT MXENE g EEE [[Efivd HXENE oIS
NGRS 1 [eBE Wk 1.322 1 [hiER PREN 0.479
2 [bmE B8R 1.301 2 [hieR ZREN 0519
RA/ &I 2.8(5 3 SRR  F=¥RE 1.279 3 |[EReR + &5 0.541
ZEIRE 0.1 4 SRR BN 1.272 4 [hiRR PEEN 0.570
5 (B8 FE 1271 5 [hiEs FAASRA 0.585
6 K88 LBHPX 1.262 6 [RRE NGB 0.586
7 K88 LahEX 1.255 7 |BRER =88 0.596
8 (BB =@ 1.252 8 |EHER KEER 0.610
9 |[BEER BEH 1.241 9 [hige ERERT 0.616
10 [SXE  BEHH 1.232 10 [PfEE b AR 0.626
Ry E3pS]
IEfT MXENE g E=EE BT MXEINE IS
R 1 KR KRBRMEEX 1.529 1 [hiER EEEN 0.323
2 [KBRFE  KIRMREFSX 1.527 2 [hieR PEER 0.370
RA/ &I 47 3 [KirfE  ARMIEX 1518 3 [hEe E3~===1n) 0.372
ZENRER 0.21 4 |[KIRFG  KERABAHEEHFX 1510 4 [BFE EEELN) 0.377
5 [KIRE  ARHESX 1.482 5 [u@e G 0.405
6 [KIRIE  ABRMHER/AX 1.476 6 |[BHRE TEHA 0.444
7 |BRE ROKA 1.451 7[R bR 0.460
8 [KBrfE  KIRHREFX 1.449 8 [ERE bW 0.485
9 |CBR L=AEH 1.446 9 [FmR8 REBN 0.489
10 [KIRfS IR HERX 1.440 10 [hi88 K S 0.492




